Diviser Fractions (A)

Nom:
11§+§
2 %+2%
3 %+2§
4 %+2%
5 %+3%
6 %+3—
7 §+1—
8 %+3%
9 §+3—
m.%+1—

Date:

Note:

Calculez chaque quotient.

Conversion T

= X =

Inversion

= X =

Résultat

Simplifier Conversion |
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Diviser Fractions (A) Réponses

Nom: Date: Note:

Calculez chaque quotient.

112.8_11.8_11X9_99_11_13
9°9 9 "9 978 72 8
il .7 _ 1.6 _ 6 _ 3
6 4 6 4717 68 34
312_—1_£—l><£—£—i
2 276 2717 0 34 17
41_2_1_17_1X8_8_4
2 278 2717 7 34 T 17
c L.,z 1.1 1.3 3 _ 1
3 373 3711 33 11
o L., 1.2 1.6 6 _ 2
3 6 3 6 3723 69 23
7§_1_—§_§—§Xg—g—§
6 62 673 18 9
81,3_1,7_1)(2_2_1
6 62 677 T 42 21
9&;3_—i;§—ixl—£—£
7 77 7722 0 154 11
101-1—1-3—1><2—2—1
"2 22 273 7 6 3
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